REF

75019.6 2022-10-19

851\ UB200624L M

Cross 50-57,5cm Etac

Cross 5 50 cm Etac

Cross 6 50 cm Etac

Cross XL/ Cross 5 XL 50-60cm Etac

Twin 50-55cm Etac

Transit 50 cm Etac *Transit Il 16"

N g

N
)

My
]
D)
]
iy

q

\W/

[¢

O
[E
=

ll D

Etac Supply Center AB
Langgatan 12 M D
SE-334 33 Anderstorp

www.etac.com















'_J—_,‘/ﬁm

—







[ 200006F |

L

— )

[N
o
=z
3

(oo 2 ]

=
o
=z
3

B
0

200077A

200077B }

i

© © 000 o o
&)

10 Nm —
200012F 200012E
OM | 200012F | - | 200012E |
| I |
10 Nm [11264 | U
L 1 J =
@ 200078
24 Nm 9306
I q
91571
—@ i
82576

v
0 [

UB200624L

UB91571 Monteringsbeslag POM Mounting bracket POM 2
UB9306 Monteringsbygel skal 35 mm Mounting bracket basin 35 mm 2
UB200006F Monteringsvinkel lang Mounting angle long 2
UB200011 Stallbeslag bak Steel bracket rear 2
UB200078 Platta for monteringsbeslag yttre Fittings bracket front 2
UB200012E Fastarm 140 mm hoger Mounting arm 140 mm ri 1
UB200012F Fastarm 140 mm vanster Mounting arm 140 mm le 1
UB200017 Tryckdel inkl. gaskolv Pressure part compl 1
UB200034 Bygelstopp Bolt for bow 2
UB200077A | Teleskopstang 250 mm med rund tapp | Telescopic mounting bar 250mm 1
UB2000778B Teleskopstdng 250 mm med spar Telescopic bar 250mm plain 1
11592 Skruv M6x14 MF65 Screw M 4x 12 M6S fzb 4
11264 Skruv M 6x 20 MF6S 8.8 svkr Screw M 6x 20 MF6S 8.8 4
82576 Plasthylsa Plastic sleeve Lille Viking 2




